NOTE: THIS IS MODEL PAPER FOR GUIDANCE OF STUDENTS & TEACHERS
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Note: You have four choices for each objective type question as A, B, C and D. Choose the correct
answer and encircle it. Cutting, erasing, ovenwriting, encircling more than one option, using of
lead pencil will result in zero mark in that question.,
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Note: Write same question number and its part number in answer book, as given in

the question-paper.

(PART -1 s .2 )

12 2. Write short answers to any SIX (6) questions :

: @ ez L =iy (6);;J/ 2

(i) Simplify J180 = V24 s ot 22 (i)
(ii) If x =+/5 + 2 then find the value of x + 1 e 'yL‘ w;p/ X + 17 s x=+5+2 /1 (i)
(iii) Simplify (7+43)5++2) st A% (i)
(iv) Factorize 9a* - (b+c)? Sl i (iv)
(v) Factorize 27x° +1 ;:..,; (v)
(vi) Evaluate the polynomial for the value indicated : ~:ll,1>‘_~,,_7\;3,,:'/Z;i;;,f\j;-'- (vi)
P(x)=2x> = 5x* + 7x - 7; P(2)

(vii) Define Highest Common Factor (H.C.F.). -cj‘-_w ; 3“;,-;,. (vii)
(viii) Find H.C.F of 6pqr and 15qrs _;_“‘:/,’,-L"/“ 156§ 15qrs 24! 6pgr (viii)
(ix) Find L.CM. of 2ab , 3ab , 4ca ges Froon (i)

12 3. Write short answers to any SIX (6) questions :

(i) Define inequation.

: JVLIJ’/"'LUUIV (6)1;&/ 3

a4 (D)

(ii) Solve : x=7<5-2x e ()
(iii) Solve : x=3|=5 &S (i)
(iv) Write the names of two methods to solve AL YRSl S S el G (1v)
the quadratic equation.
(v) Solve by factorization : x?—4x+12=0 UYL 24 (V)
(vi) Solve by quadratic formula if : 1=1,b=-5 6 2 1S e (i)
(vii) Define symmetric matrix. &= 7 Jv [V (vii)
¥ N .
= b g5 Ao Jy b
(viii) Find transpose of B [ 5= ! i viit)
- v
L J
- [1 3] 4 711 o .
e A+BT A ! _ |+ B= _ I (1x)
| 4 \V] ‘. 6 o
L E 8 ’ 4 7] .
(ix) If 4= il B | then find A+ B
|4 5| 6 5

=

12 4. Write short answers to any SIX (6) questions :
(i) Define diameter of circle.
(ii) Define concyclic point.
(iii) Define concentric circle.
(iv) Define the medians of a triangle.
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(2)

4. (v) Define centroid of triangle. Setnlf )/ palls (v) -4
(vi) Define Pythagoras Theorem. S0 B (vi)
(vii) Write a formula for the volume of a right circular Sy KA LG 160 (vid)

cylinder.
(viii) Write a distance formula. & K¢ Lo (vill)
(ix) Differentiate between collinear and 0PSB A S sbEBA (X)
non collinear points.
(PART-II £ 122> )
Note : Attempt any THREE questions . -é&[.b?é:—ﬂlruf c.d:(i <)
) sdb 8 & a - ’ i
4 b e XY 4 Y x=f3 =2 S (D) 3
%
) E R ) o
5. (a) If x =+/3 — 4/2 then find the value of x* + ~
x*
4 (b) Factorize a-b-a +b 207 (&)
= | g, l ( ] ) - 5 'S anl ) o t
- 6. (a) Find the square root : P2~ el e L0 4 — [ 2 : & CAle ()) 6
x* \ X
. 4dx 3x S
4 (b) Solve : —-—=4 : &) (O)
s 4 - -
- . [3 -2] [2 47 , \
4 Zr A +B JuB=| M A= | 21 (W) 7
4 6 | 11 95
caol2 4] 2] e o e
(a) If 4 =| _| and B | then find A" + B
L 1 d 6 |
_ 4 2] . 3 AL A 4 2|,
4 (b) If 4 | then find A4 Sar™ 4 st 4 = 71 L)
[ S ‘ ’ 5 4] ’
4 5113 .'5:-‘&/\;&‘. p LSS PSS s (D) 8

8. (a) Find two consecutive positive numbers such that the sum of their squares is 113.

4 AL E mAB = mBC = mAC = 5¢em J5r ZZAABC & usiifal-f (LD

(b) Draw an equilateral AABC in which mAB = mBC = mAC = Scm . Draw its altitudes.

4 AN QU E 4 wsboub Lt S22 AL (D) 9
9. (a) Find the volume of a right circular cylinder, with circumferences of base 4 cm and
altitude 1 m.
i AL C(71,3) B B=(3,2)A(-1,1) sBS et ()

(b) Show that that points A(-1,1), B(3,2) and C (7, 3) are collinear.
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